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Ereltftq frfu

l. E*t ywr-cir + ffi ff sc{ frS lrg fi:fftt r9I-r;r rR sr;rT a-grqro ftfuq t

2. q5fty5qqM{1

s. E( qm-wr qr 3.tR q*ff qI GA ffi \s, qrqr d efre, tfr-T q!ft Ef,t 6I rIt?'FT V6-

A +{r qGg I

l.(a)GivetwoexampleswhereGeometricmeanwillbethemostsuitable
average. (2)

(b) An investor buys Rs. 1500 worth of shares each month. During the hrst four

months he bought the shares at a price of Rs. 10, Rs. 15, Rs' 20 and Rs' 30

per share. What is the average price paid for the shares ? (2)

P.T.O.
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(c) co-efficient of variation and Standard deviation of a series are 6o%o and 24
marks respectively. Calculate its arithmetic mean. e)

(d) The mean ofa certain number of items is 20. Ifan observation 25 is added
to the data the mean becomes 21. Find the number of items in the originar
data. e)

(o,) t* i seraror Afts ftr+t'wrfrftq qna n-<t svgqf, eira *m r

(t<) co, frfur*. yft'qra tsoo t * +Tr rqt-d-dr I r ur{r qn qre d vs} tor, tst,
zot ertt :o t cR ++t d qr t i{r €fl+ r ir+tr* * fts B-r+ *<-d *q-d ffi
?rl

(q) f,.o 5a-or w frft-+<r nun-* *t ar+o fr-ffi{ firr. 60% 3fr{ 24 aqi.* r rFrftq
qT:f,r q cfr+-rmdfrs r

(q) eq# d fr*s tgrqr err qrta z0 * r cR Bfim-st n ierur zs +s ftqr urs * qra
21 A Brdr I r gr eH n uqei * wqr arr dfrs r

2- (a) what is correlation ? Differentiate between positive and negative correlation.

(s)

(b) An incomplete distribution is given below :

Marks

t0-20

20-30

30-40

40-50

50-60

60-70

70-80

Total

Frequency

t2

30

?

65

?

25

l8

229
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You are told that the Median value is 46.

Using the median find the missing frequencies. (e)

OR

(c) The mean weight ol50 students in a class is 50 Kg. The mean weight of the

boys is 65 Kg. and that of girls is 50 Kg. Find the number of boys and girls

in the class. (5)

(d) Fit a straight line trend to the following data by least square method :

Year 2000 2001 2002 2003 2004 2005

15 22 26Sales

(in 000, Rs.)

13 14t2

3rr{fr

Also estimate the sales for 2006.

(o.) cecw wr +f,I * ? tr<rs+ efu xvnero {-dv<:r + offi{ Eff{q I

(,s) \-*, qqrt ft-diur ftt ftqr rrqr *:

3lt6

10-20 12

20-3 0 30

30-40

40-5 0 65

50-60

60-7 0 25

70-80 18

(e)

?

?

Ag 229

P.T.O.
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B[q-q] qffqr rrqr I fr qrkfir r€ 46 e I

qtEqor ql y+rr 6r* gR Bn-gRr+ d ara dfts r

SI IT

(r) go' o'ur i so sri qT qtzr Ew{ 50 ftur t r a-s-S qr qreq q-s{ os ftrqr I *r
orsBzit- qr 50 fr'nr + r cm d d-s-+] d{ irsfuit- fr der an dftq r

(a) ffiR+o effi + ftv qrm eri trB anr ftft lisr rgft t-q dfts r

;

s{

ffi
(Efft +)

Sum of deviations from assumed mean

Sum of squares of deviations from assumed mean

Number of items

Assumed mean

2000 200t 2002 2003 2oo4 2oo5

12 l3 14 t5 22 26

ffq A 2006 + fts &-fr t6T $rgpa sqgg 1

3. (a) What is Time Series ? Briefly explain its components.

(b) For two groups of observation the following results were available :

(5)

Group 1

8

40

20

5

Group 2

l0

70

25

8

Find the mean and standard deviation ofthe 45 observations obtained by
combining the two groups. (9)

OR
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From the following results obtain two regression equations and estimate the yield
when the rainfall is 29 cms. and the rainfall when the yield is 600 kgs.

Yield in Ke. (X) Rainfall in cms. (y)

Mean 508.4 26.7

s.D. 36.8 4.6

The coefficient of correlation between Yield and Rainfall is 0.52. (14)

(m) tt+ T+or qr +e e ? E{-+ E-6i- d t&q { qrc<r dfrq I

(r+) iufr + a q,il + ftq ffifri-d ctunc aqe:*r *:

e,l t erl z

qFqr qrta t ffi- qr fig
qfur qne t fr-ffn- * c,il ql *s
qq$ fr R@r

qfuc qrtq

8 10

40 10

20 25

85

ffi- qril 61 ffi t crq 45 ierot ql qne *r qr+m ftqct an dfrq r

BTSIITI

ffiRq-d qfun+ t i wrr:qur t-fi-+tq nrq dfrs *t yrfr qT fflrmarnEq Es q{td

29 +fr I Bfu q(if,, vs nrk 600 ft-fl I r

mfu fr-qr + rxt q*d +ff + (y)

TITET 508.4 26.7

qno E-qil{ 4.6

rfu ft esk + ftq ftaqu {unh 0.52 I r

P.T.O.
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4.

6

Compute Fishers' ideal price index number from the following data and prove

that it satisfies both Time Reversal and Factor Reversal tests :

Items po P,9, qr

24 6

10 30 5

14 50 i0

19 26 13 ( 14)

OR

(a) There are 60 male and 40 female workers in a factory. The standard deviation

of their wages were computed as Rs. 8 and 1 1 respectively. The mean

wages of the two groups were found to be equal. Compute the combined

standard deviation ofthe wages ofall the workers. (5)

(b) The following table gives the weekly income of 160 families in a town:

No. of Families

2000-4000 20

4000-6000 40

6000-8000 50

8000-12000 32

r 2000- I 6000 16

16000-20000

qo

82

5

4

2

A

B

C

D

2

(i) Calculate the lower and upper quartile income levels.

Weekly Income (Rs.)

a
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(ii) It is decided that 80% of the families should pay income tax. What is
the minimum taxable income ? (S)

frqftftq-d sffi- + ft{R !ft inEd *{d {sri+. r-qr qr €rk6-d-{dftq Bfu ft-d dftq
fr qe rcq-i-ffcq *t qrco ys{q aqt^ cte{Uri fr r-gk s.crr i:

"s{ po qo p,9, qr

24

l0 30

14 50 10

t9 26 l3

STeIEt

(m ) v+. @ t 60 g{q *{ 40 qtrf,r 6ffi * r s-+ff q-.q--<frfr * qr+*. G-qerr xq{r.

8 *r l1 srFrokrftsrs riqidrunq${Rdtq|?cr{rr{ rqRq-*qntqr-

d c-.d-$fr + qF{kd qr+*- ftqr+ el srft+-ar dftg r

(re) ffift'<-r Hrfuor + a,& + 160 cM * qr<rFo w ff.r{ t,

rnRrtro ilq (t.) qtqrt d T(Er

2000-4000 20

4000-6000 40

6000-8000 50

8000- 12000 32

I 2000- 1 6000 t6

6

5

82

5

4

2

A

B

C

D

216000-20000

P.T.O.
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(i) ffi at{ uvt s-Eela, e{rq K{ 6r qR6ffidftq I

(ii) {6 Rq ft'qt rrqr i ft. aox qRsrt d 3 q--nt t{r sGs r q+cq 6{+rq

sncsqlI?

(2000)

a

I


